



اسم: \_\_\_\_\_

التاريخ: \_\_\_\_\_ النتيجة \_\_\_\_\_

$$5^3 + 4 =$$

$$(-3)^3 + (-3) =$$

$$(-3) - 1 =$$

$$(-2)^0 - (-8) =$$

$$(-1) + (-4) =$$

$$(-1)^2 - 5 =$$

$$(-3)^2 + 8 =$$

$$9^3 + 5 =$$

$$3^3 - 10 =$$

$$6^2 - (-9) =$$

$$(-7)^3 - 6 =$$

$$(-6)^3 + 2 =$$

$$(-2) - (-3) =$$

$$8 - 1 =$$

$$10^2 - 3 =$$

$$(-8) + 3 =$$

$$9^2 + (-5) =$$

$$(-5)^2 + (-2) =$$

$$(-10)^3 + (-8) =$$

$$(-6)^2 - 6 =$$



اسم: \_\_\_\_\_

تاريخ: \_\_\_\_\_ النتيجة \_\_\_\_\_

$$5^3 + 4 = 129$$

$$(-3)^3 + (-3) = (-30)$$

$$(-3) - 1 = (-4)$$

$$(-2)^0 - (-8) = 9$$

$$(-1) + (-4) = (-5)$$

$$(-1)^2 - 5 = (-4)$$

$$(-3)^2 + 8 = 17$$

$$9^3 + 5 = 734$$

$$3^3 - 10 = 17$$

$$6^2 - (-9) = 45$$

$$(-7)^3 - 6 = (-349)$$

$$(-6)^3 + 2 = (-214)$$

$$(-2) - (-3) = 1$$

$$8 - 1 = 7$$

$$10^2 - 3 = 97$$

$$(-8) + 3 = (-5)$$

$$9^2 + (-5) = 76$$

$$(-5)^2 + (-2) = 23$$

$$(-10)^3 + (-8) = (-1008)$$

$$(-6)^2 - 6 = 30$$